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Seat No.: ________                                                       Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–III • EXAMINATION – SUMMER • 2014 

Subject Code: 330602 Date: 17-06-2014        

Subject Name: Hydraulics 

Time: 10:30 am - 01:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks.  

4. English version is considered to be Authentic. 

Q.1  Write following equation & Give name of all the parameters  included in it. 

1. Reynold’s Number    2. Continuity Eq.   3. Chezy’s  Formula. 

14 

        4.   Coefficient of velocity   5. Darcy’s Formula    

      6.   Kutter’s Formula   7. Discharge over Rectangular Notch 

 

    
Q.2 (a) Convert following. 

1.  12 M head of mercury in N/M
2
 . 

2.  25 M of oil (sp. gr. 0.84) head in head of water. 

07 

 (b) State & Explain Pascal’s law. 07 

  OR  

 (b) Write limitations of  Bernoulli’s  Equation. 07 

    
Q.3 (a) A circular gate of 3 M diameter is immersed vertically in oil of sp. gr. 0.8 

 with uppermost end of vertical diameter lies at a depth of 2.3 M below free 

surface. Calculate total pressure and depth of centre of pressure. 

07 

 (b) Show various components of Venturimeter with the help of neat sketch and 

write function of each.  

07 

  OR  

Q.3 (a) Explain stream line, streak line and path line. 07 

 (b) A jet of water issue from a sharp edged orifice of 5 c.m. diameter under a 

constant head of 350c.m. If vertical & horizontal co-ordinators of a point from 

vena contracta are 44c.m. and 260 c.m. respectively and Cc=0.62, find 

1. Coefficient of discharge 

2. Velocity of jet at vena contracta 

3. Diameter of jet at vena contracta 

  

07 

    
Q.4 (a) What is nomogram? Give its uses. 07 

 (b) Explain “Most Economical Section “ of channel. 07 

  OR  

Q. 4 (a) Differentiate between V-notch and Rectangular notch & give advantages of V-

notch over Rectangular notch. 

07 

 (b) A compound pipe of 3000 M length is comprising of 1000 M with 300m.m. 

dia. , 1000 M with 25c.m. dia.  and remaining with 0.2 M dia. Find the 

equivalent diameter of pipe having same length.  

07 

    
Q.5 (a) Write factors affecting  selection of pump. 07 

 (b) Explain with sketch various types of pressure.  07 

  OR  

Q.5 (a) Explain with sketch ‘ orifice meter’. 07 

 (b) Find Dimension of most economical rectangular channel from following data  

1. Q= 400 lit/sec.  2.  S = 1/2000     3. C = 50.      

07 
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ગજુરાતી 
પ્રશ્ન. ૧       નીચેના સતુ્રો રખી અને તેભા વભાવલષ્ટ ફધા જ ઩દોના  નાભ આ઩ો.  

૧. યેનોલ્ડ નફંય   ૨. વાતત્મ વભીકયણ  ૩. ચેજી નુ ંસતુ્ર  ૪. લેગનો અંચ઱ાકં   
૫. ડાવી ન ુ ંસતુ્ર  ૬. કટય નુ ંસતુ્ર  ૭. રફંચોયવ વલમય ઩યથી ઩વાય થતો 
પ્રલાશ  

૧૪  

    

    
પ્રશ્ન. ૨ અ નીચેનાને રુ઩ાતંયીત કયો. 

  ૧. ૧૨ભી. ઩ાયાના દફાણને ન્ય.ુ/ભી૨ ભા ંપેયલો.  
  ૨. ૨૫ભી. ઓઇરના ( સ્઩ે. ગ્રેલીટી ૦.૮૪ ) ળી઴ષ ને ઩ાણી ના ળી઴ષભા ં પેયલો.  

૦૭ 

 બ ઩ાસ્કર નો વનમભ આ઩ી અને વભજાલો.  ૦૭ 

  અથવા  

 બ ફનોરીના  સતુ્રની ભમાષદા વભજાલો. ૦૭ 

    
પ્રશ્ન. ૩ અ એક ૩.૦ભી. વ્માવનો ગો઱ દયલાજો ઓઇરભા ં( સ્઩ે. ગ્રેલીટી ૦.૮ ) એલી યીતે 

ડુફાડેરો છે કે તેના ઉધ્લ વ્માવનો ઉ઩યનો છેડો પ્રલાશીની મકુ્ત વ઩ાટીથી 
૨.૩ભી. ઉંડાઇએ છે. આ ભાટે કૂર દફાણ અને દાફકે્રન્દ ની ગણતયી કયો.  

૦૭ 

 બ સ્લચ્છ આક્રુવતની ભદદથી લેંચ્યયુીભીટયના બાગો દેખાડી દયેકનુ ંકામષ વભજાલો.  ૦૭ 

  અથવા  

પ્રશ્ન. ૩ અ સ્રીભ રાઇન, સ્રીક રાઇન અને ઩ાથ રાઇન વભજાલો.  ૦૭ 

 બ તીક્ષ્ણ ધાયલા઱ા ૫ વે.ભી. વ્માવના ઓયીપીવ ભાથંી ૩૫૦ વે.ભી. ના ળી઴ષથી જેટ 
઩ડે છે. જો  ઉધ્લ અંતય અને ક્ષૈતીજ અંતય લેના કોન્રાકટા થી અનકુ્રભે ૪૪ 
વે.ભી. અને ૨૬૦વે.ભી. શોમ અને Cc=0.62 તો,   
 ૧. નીકાવ ગુણંાક 
 ૨. લેના કોન્રાકટા ઩ાવે નો લેગ   
 ૩. લેના કોન્રાકટા ઩ાવે નો જેટ વ્માવ   ળોધો.  

૦૭ 

    
પ્રશ્ન. ૪ અ નોભોગ્રાભ શુ ંછે? તેના ઉ઩મોગો રખો.  ૦૭ 

 બ કેનાર ના ‘ કયકવયયકુ્ત આડછેડ ‘ વલળે રખો.  ૦૭ 

  અથવા  

પ્રશ્ન. ૪ અ વત્રકોણાકાય નોચ અને રફંચોયવ નોચ નો તપાલત આ઩ી વત્રકોણાકાય નોચના 
રફંચોયવ નોચના વદંબષભા ંપામદા આ઩ો.  

૦૭ 

 બ એક કં઩ાઉન્ડ ઩ાઇ઩ ૩૦૦૦ભી. રાફંી છે. જેભા ં૧૦૦૦ભી. રફંાઇ  ભાટે   
૩૦૦ભી.ભી. વ્માવ, અને ૧૦૦૦ભી. રફંાઇ ભાટે ૨૫વે.ભી. વ્માવ તેભજ ફાકીની 
રફંાઇ ભાટે ૦.૨ભી.વ્માવ શોમ તો વભાન રફંાઇ ની વભકક્ષ ઩ાઇ઩નો વ્માવ 
ળોધો.  

૦૭ 

    
પ્રશ્ન. ૫ અ ઩઩ંની ઩વદંગીને અવય કયતા ઩યીફ઱ો રખો.  ૦૭ 
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 બ આક્રુતીની ભદદથી વલવલધ પ્રકાયના દફાણ વભજાલો.  ૦૭ 

  અથવા  

પ્રશ્ન. ૫ અ આક્રુતીની ભદદથી “ઓયીપીવ ભીટય” વભજાલો.  ૦૭ 

 બ નીચેની ભાહશતી ઩યથી રફંચોયવ કૅનાર કયકવયયકુ્ત ભા઩ો ળોધો. 
 

૧. Q= 400 lit/sec.  ૨.  S = 1/2000    ૩. C = 50. 

 

૦૭ 

 

************ 


